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; @UE-d § 24 &Y Swelg wyw & 7. In Section-B, there are 24 short

Y g7H 8 WV Wifaw v % g g
AT A F UF 8 Wyy
AT & &1 9% favy (wifye
VT, THIAA VI g i faar)
q G-9% W &7 3w o &
ye=E & k9 2 aF Fuifa &1
HIAR® 30 @vg F 6 I s
w7 4 o & fd @ 2 gy
yifa® I &, 2 497 TATaT 9T
% U9 2 QvT T fma & #
wifie e & geiw o goda
¥ & o706 3, vaTET e o6
dia fam g% & fw 5 dw
Frifter 21 g% frvg sifas sme,
TG WA vad wid a9
UF-U% 597 &7 I G 3 &l

8. [HGl G F Foiagiieh IIFT F
FAnT quierar af &1

ansiver type questions. Out of
these, elght questions are from
Physics, elght questions are from
Chemistry and eight questions
are from Blology. Four gquestions
are to be answered from each
subject (Physics, Chemistry and
Blology). Each question carmes
2 marks. Apart from these, there
are 6 Long Answer type questions
in which twe questions each from
Physics, Chemistry and Biology
are there. Iﬂng Answer type
questions from Physies carries
6 marks each, and from
Chemistry and Biology camrmes

5 marks each. Answer of one

question each from Physics,
Chemistry and Biology is
compulsory.

. Use of any electronic appliances is

stnctly prohibited.
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qug - 3 / SECTION . 5
TS Wy Objective Type Questions

m#wJ#soaﬁaﬁﬁrﬁrmiiﬁﬁ#ﬁFﬁwnﬁfmmh?}

mm%mwmﬁvwa‘&aﬁ#
wel fawey &) Ohmvﬁzwﬁr@awﬁ: e mﬂii:ﬁ

Question Nos. 1 to 80 are of objective type: Answer any 40 questions. Each

question has four options oyt of which only one is correct. You have to
mark your selected option on the OMR sheet.

40x1=40
o TSl fae e e e 3, wifs s
(8), i g & B Pewdmd
€ shEmdmd ) wEd W
An aqueous solution of acid Iuoﬁdu;ts‘ electricity because acid in
water
(A) gets ionized . (B)  is soluble
(C) isinsoluble (D) none of these
2. Feffen §.9% fit G99 (olfactory indicator) T 2
(B) o T H IF (B) sfen
(C) " Tz D) wamh
Which of the following is not an olfactory indicator ?
(A)  Glove oil (B) Vanilla
(C)  Sweet potato (D) All of these
3. % & d S-m onver g @ R 2
®)  fifem s . (B Tiew
() A am (D), ¥ 8 F T
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7 ;ﬁﬁﬁaﬁq—:ﬂmﬁmﬁam@ﬂw-ﬁﬁ%? e
(A) Fe (B) cCu
€ Zn (D) Ag
Which metal is mixed with gold to make ap alloy ?
(A)  Fe (B) Cu
(€)  Zn (D) Ag
8. Wiewhiw
(A)  ug (B) g
(€ Taurg | (D)  JuuTy
Silicon is a/an
(A)  Non-metal (B) Metal
(C) Alloy | | (D)  Metalloid
9. ﬁ#ﬁmmm%%&wmmé?
(A)  |E VI | (B) w=g =
(C) FHEil * - (D) ug @
Magnesium is a member of which group of the periodic table ?
(A)  Group VIII (B) Groupl
(C)  Groupn (D) INonmetallic clement
10.  3red @weof & fpad ared 8 o
(A) 12 B) o9
C] 8 (D) 7
[ SS/A/613
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u I I fr12]

How many periods are there in the pqﬁodic table ?

Al i B) 9
Cc) 8 | | D) 7
(A) H B w=
© w0 @

Which of the following is not an ancient methed, of water
: | .

harvesting ? |

(A} Katta | . (B) Kulh

() Dug well D) Irish
12, fed @ty fmiv &1 I W o ? |
war Rodhwee o e
€ ¥ A ) T E T

| :
1 : . |- ?
What was theobjective of eonstruction of Tehri Dam 7

(A) Electricity generation (B) Land irrigation

(C) Water supply - (D) Allof thesg
13, R yeeT 7 e A ?
(A) I - ®

(¢ wh f (D)

il @ i

' 1.7
What is the new concept of waste managemen

(B) Recycle

(A).  Reuse | |
(C) Reduce (D) All of these |
| I Page 7 of 32
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14 FrafRee § el HEEE S 27
(A) I (B) =4
() Ugierm () 394 & F 7
Which of the following is a renewable resource ?
(A)  Coal (B) Forest
(C) Petroleum (D} None of t.hese
15, Peffes i s TMMs s g ues 2 2
A) FERETSIEE () g ae
(C) STErTSY | (D) Toem
Which of the following is the main component of biocgas ?
(A) Carbon dioxide (B)  Hydrogen sulphide
(C) Water vapour (D) Methane
16. %% 1R @ wwar &
(A) &Y TSE.4ER 8 (B) H W WNH W
€ TREEHY@E Y (D) T I BE A
Peptic ulcer can Ee caused by |
(A)  Eating less food (B) Eating normal t'bod
(C)  Prolonged starvation (D) None of these
17. < sfwE= 78 gy s
(A) W T B) woe §
(C) uwefi v (D) =S ﬁ
IM—I Page 8 of 32
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Double circulation is not found in

(A} TFrop (B)  Fish

(C) Bird (D) Human
18, gfen W A gl A uay ol g v
(A) 9 y W Ee o
© s (D) A F T
From wher;z does urea enter the blood ?
(A)  Kidney ' (B) Lungs
(C)  Liver (D) None of these
19. eI 1 RGN e € R 2
() Ppcrd @)  DCT#
C wAq@HE . (p) waEwh
Where does glucose rcabsi::_rption occur ?
(A) InPCT (B). InDCT
(C) In Henle's loop. (D)  All of these
o, R st 3 G @3 g el # T} e e &
w w0 § |
(A) 9T=A T3 (B) iEew @
(G I T (D) aﬁw GE
The mechanism .for removing harmful substances formed as a
result of various activities from the body is called
(A) Digestive system (B) Circulatory sysiem
(C) Excretory system (D) Ncrvou:-_:-svstcm
[ ss/a/613 Page 9 of 32
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21. mamﬁﬁlﬂfﬁﬂ'ﬁ"%? |
(A) =T ‘ (B) W
€ TFEE . 1B e
What can happ%n due to spinal cord injury ?
GV Goitrt? | ._[B) ' Dwarfism
(C) Diabetes (D) iparalygis
20, W ¥ T A wEd w9t a2 |
(A) wEA | @»/ I
C e . (D) 3T
The largest glarid in the human Bodyis
(A) Adrcnai | (B)  Liver
© Ovary (D) Pancreas
23. YIgY BHIA HEATd & = |
() (B) W
Q o D) AW
Plant‘hermone is called 5 |
()  Pheromone (B) Phytohormone
© E“Wmel o (D)  None of these
24.  qfvEl grY e wade w1 IqE 2
(A) @™ B) "
® T (D)  wRwTEEm
SS/A/613 |
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ﬂ (112

An example of vegetative Propagation through lcaves is

(A)  Onion -

Potato
(C) Rose (D) Bryophylum
b5, TRA W R waT dve o
a2 (B) 3
(C) 4 (D) 5
How many isomers of butane are possible ?
(A) 2 (B) 3
€y 4 (D) S
26, fadiA % 3T HT HHR A 2
(A) THEHE (B)  IerHTPR
) wHEgeEE e L

The shape of methane¢ moleculc is

(A) Linear (B) Annular

(C) Tetrahedral (D) Octahedral

27, mﬁmaﬁﬁraﬁﬁmﬁﬁm'ﬁ%
a) 1 B) 2

) 3 (D) 4

' i ' s i8
The valency of carbon in organic compound

a4 1 B) 2

) 3 D) 4
S8 Page 11 of 32
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[ 112
08. = i & $1 UqW TEIIHEA 8 ? | |
A, T (B) U
(€) YT D) WA F5E T
Which of the following is saturated hydrocarbon ?
(A) Alkane (B) Akene
(C) Alkyne (D) None of these
29. TR $1 IUPAC AW B
(), T B R
c w\ (D) FHAFE T -
IUPAC name of ethylene is
(A) Ethane | (B) ~ Ethyne
(C) Ethene (D) None of these
30. ﬁgﬁﬂtﬁﬁ,aqmﬁwmﬁaﬁwwweﬁé-
(A)  Ffedle &l ad wH T &l
(B) -l 3 wm 7 &
(C) emEgH i 3R T TE o
O) THAPET
Which was a defect of Mendeleev's periodic table ?
(A)  Not giving proper -place to oxygen
(B) Not giving propclr place to Cl
(C) Not giving ﬁropcr place to hydrogen
(D) None of these
SS/A/613 | Page 12 of 32
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©a
[—

=

(112 ]
mmmmﬁ@mmﬂﬁqﬁamw?

R B i

@ SR (D)  sHaTEH

Who among the folllowing propounded the laws of octave ?
(A) Mendeleev (B) Newlands

(C) Lother Meyer. (D) Dobereiner

fraferfad @ | #19 Jfre ged arfas sl g 2

(A) SO, . (B) Na,O

) Al,Oj (D) NO,

Which of the following compounds would be the most basic ?

(A) SO, (B) Na,O

(C) Al,04 (D) NO,

RpToT % EE ! FEAE |

(A) ST 4. B) ftur g

Cr (A)3 (B) & (D) T WE

A group of rays is.called

(A)  Light beam (B) Ray beam

(C) Both (A) and (B) (D) None of these
3. sre ) fedt e B |

(A) et oft femm # @ f@ @ |

(C) wft@H (D) gl A B Tl
SS/Aj61s | —— " Page 13032
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33.

36,

37.

[112]
The light rays travel in
(A)  any direction (B)  oblique line
(C) a straight line (D)  nonc of these
Haadl q9v 6| R &1 gde R o
Ay s B)

(C)  hEm Fon swErh A (p) T § Y 5
Which type of mirror is a concave mirror ?

(A)  Divergent

(B) Convergent

(C) - Both convergent and divergent

(D)  None of these
mﬁ%mmﬁﬁﬁ%ﬁaaﬁ&ﬁmm%a&mwmn%mw%?

¢ we ain (B)  orwe g
(C) dvaw edy | D) w3 S T
"~ Which of the following typcs of mirror is used in the headlight of g
car ?
(A)  Conwvex mirror (B)  Concave mirror
(C) “Plane mirror (D) None of these
A 2 Y P f @A R
(A) e BY  FTE
©) (4 3 (B) 2 (D) ¥ &

The focal length of a concave mirror is

(A)  Positiye (B)  Negative

(C)  both (A) and (B) (D) None of these

I S8/A/613
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(A)  HEdA

—

ag. A a0 A T T A B whifi s 2 o

[112]

(B) gwad

(D) 3 & &g T

Which mirror always forms an image smaller than the object ?

(A) Concave

(C) Convex

(B) Plane
(D) None of these

30, @y H ST 1 =, fiata ) sdan @t 2

(A) ®H

(C) 8HH

w8 wm

o) T A EE T

The speed of light in air as compared to vacuuumn is

(A) Less
| (C) | Same
40..
(A) TEdH
(C) WU

Which phenomendn

twinkling of stars ?

(A) Reflection

(C) Scattering

41, o @ it B R

(B) More

(D) None of these

wmmﬁhﬁ?ﬂyﬁmaﬁﬁﬁuﬁq@ﬁﬁﬁhﬁﬁ%?

B) =oi-faEgu
(By  3Ed

exhibited by light is demonstrated in the of

(B) Dispersion

(D) Refraction

(A} H@TE |y TP

© B xad (D) ImE ¥
Xy ' //mm
38/A/613
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42,

43.

44,

[ 112
Bile juice is secreted by
(A)  Oral cavity . (B} Liver
(C) Small intestine (D) Sto;nach
W e Wi 1 R o g 2 o
(A)  EWNY HTEE FEI
(B)  IS¥INY T A S%e gop
(C). IV 7 Tl Swet v
(D) ¥ 8 Fi§ 7E
What is the function of the villi located in small intestine '—‘ '
(A) Blocking absorption
(B)  Reducing the surface area of absorption
(C)  Increasing the surface -arca'of absorption
(D)  None of these | - farere 5t & oTv site qerat sitftsfaas
FAYST AUE, Ales Uue, 3Hige-H,
9@ TET 1 fwe g b bl i e
Res e ud
(A)  UTHAA (B) uwH Biharboardquesti
iharboardQuestionpaper.com

(C) . T&t (D) wmH

The posterior part of the oral cavity is

(A)  Esophagus (B)  Pharynx

(C) Duodenum (D) Pancreas

AEQ A § FifE § afeden w1 R 3R e st @
B FHFeITal §

(A) -~ TATHI=ETE B) v

(C) I:7EE (D) ¥ A S Tl

ILSS/A 613 ‘ Page 16 of 32
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[112]

The transfer of O ,from outside environment to cells and removal of
CO, is referred to as

(A) Exhalation

(B) Respiration

(C) Inhalation (D) None of these
45. TEN-GEIN § Hifom w1 g 6 2

(A) UiERa . (B). coO,

C) 5= (D) &R i

The bgsic source of oxygen in photosynthesis is

(A) éhlomphyll ' (B) CO,

(C) Water _ (D) Solar energy

%6, Prefiaa i frd St w1 o g7, % w9 5 o g 2

(A) ATP (B): ADP _

(€) DTP @) A ¢ T ¢

Which of j:hc following is known as the 'energy currency' of the
" cell ?

(A) ATP (B) ADP

(C) DTP ‘ (D) None of these

47.  wrew # wgem o
(A) YIS 1 98d & g (B) TFdioE 1 987 & foT
(C) anfeh 3t W & fAY (D @ 1 e & R

Xylem in plant is responsible for

(A)  Carrying of food (B) Carrying of oxygen

(C)

Carrying of amino acid (D) Carrying of water

\SS7a7e13
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48wl % e o § Efefea § wm oo e # i
(A) A T HINEIT (WBC) (B) WWW(RBC]
© T uRwy Oy FTHI@R |

; | I
Apart from plasma, which of the following is found in blood ?

|

L

| [112)
;

!
(A)  White Blood Cells (WBC)(B)  Red Blood Cells (RBC)

(C) Blood platelets (D). All of these |
49. W ¥ BIHd gt £ TE &Ear PR, A | |
(A)  f+P=0-5 @ fxp=1 .
€ P=+f=1 D) Pef=2 ;
1f the focal length of the lens is fand power is P mien
(A) f+P=0-5 uaj} fxP=1 [ :
C) P+f=1 D) Psf=2 |
50. & F1 F-a A YR ) g v T 2 2
(A TR B
) fwa D) W= |
Which'paft6f camera acts like the retina of the Ejlle ?
(A)  Aperture (B) Lens :
© Fim (D)  Shutter
51. UH @W 99 H ¥ mﬁm*ﬁ@:m g-Tag o B ¥
(o) 0T 3Fm (é} 25 cm T 250 cm
Mhm@m @) 0W25cm |
SS/A/613 |
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[112] 4

For a healthy human cye, the near point and far point are |

respectively

(A) O and infinity (B) 25 cm and 250 cm
(C) 25 cm and infinity (D) Oand25cm
o, SEE W G FaRe aEh B e wda g
(A) dIe \ (B) Hem
HIeT () 3w

To an astronaut standing on the ‘moon, the sky appears to be

(A) Red . (B) Blue
(C) Black - (D) White
53. 4 £ FH- T H9 8 S A I 8l 8
) R (B) WRi-3fE AW _
() Prre-giea (@)~ T

The decreased accommodative ability of the eye causes

(A) Farsightedness (B) Presbyopia

(C) Nearsightedness (D) Colourblindness’

54. %&ﬁm@uﬁrﬁmmm% |

J‘/‘“’“ (B) 0/m
| o w3 = T

© o (D)

The unit of resistivity in a con ductor is

(B) f/m

(D) None of these

A) Qm

Page 19 of 32
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55. 1@ # fea Sl el & ?
(A) 023 (B} 019
(C) 021 (D) 025

How many calories are there in 1 joule ?

(A) 023 | (B) 0-19
() 021 (D) 0-25
56. ﬁ@aﬁﬁﬁaﬁzmﬁ%ﬁmmwﬁm%?
@) (B) UcyHifam
Cy o | (D) e
The filament in an electric bulb js -.tpa-adc of which of the following
metals ? | |
(A) | Iron | ‘l(B] Aluminium
(@ Tungsten | | (D)  Copper
57. Wmﬁaﬁ@wﬁamﬁﬁﬁé?
) e B) dfierrg
(©) “IWww (D) - TeRm
'n which state is the Kalpakkam Nuclear Power Plant located ?
(A) Karnataka - (B)  Tamil Nadu
(C)  Uttar Pradesh (D)  Gujarat
58. We M9 (LPG) %1 Yy areag ¥
)% i T
o = O fri

| SS/A/613
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The main component of domestic gas (LPG) is

(A)  Ethane (B) Propane
() Putane (D) Methane
0. Il % A FANHIT Hal B
W) TR T S gy e e
) S T e (D) FHE IR
The two non-renewable sources of encrgy are
(A) Gobar gas and biomass
(Bi- Coal and petroleum
(C) Biomass .and petroleum
(D) None of these
60. vae @ TR H aifufiean 8 2
(o) EAH L (B) W
() S (D~ aqw
Which type of reaction 18 respiration ? |
(A) Combination. (B) Refiuct.zon
(C) Endothermic (D) Oxidation
61, zamzi % ATl d w3 At FE :miﬂ
(A) HEAD 8y S dai
() 9gd gt (D) o
sfer of electrons are ¢a
Compounds farmcd by tran : et
o o :D] None of thes¢
(C) Electrovalent M
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62.

[ 11
Preferfaa arfrfsrmadl & @ w9 omwwe R sfifsn =1 o seRw 2 5 !

(A) Hyp +1, - 2HI

(B) NH#CNO—}H'QNCONi-Iz

(C) NaOH + HCl— NaCl + H,0

(D)  2KClOz »KCl +30,

Which of the following reactions is an example of decomposition
reaction ? '

(B)  NH,CNO-»H,NCONH,
(C) NaOH + HCl— NaCl + H,0

(D)  2KCIO5 -»KCl + 30,

63. ﬁrrfi%:%a " formi e aret g ST 7

@) " B~ el
(C) TR (D) T
In which of thefollowing is tartaric aci.d found ?
(A) Orange (B) Tamarind.
(C) Tomato - (D) -Vin;:gar
64. ¥ T I HI TS T F11 R ?
(A) wfcamm Ffefleenfe (B)  Hiwm wwise
(C) %fPaawm sfeame Q) & wrvgrTS
What is the chemical name of slakled lime ?
(A)  Calcium oxychloride (B) Calcium chloride
(C) Calcium oxide (D) Calcium hydroxide

SS/A/613 i Page 22 of 32
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| - , [112]
65. mﬂéﬁm@%ﬁqaﬁmg

@) T B) sigwm

S (D) w3 # 7@

The chan
Bes that take place during adolescence are called

Al Di ;
(A) Iversity (B)  Germination

(€)  Puberty (D) None of these

66. ﬁﬂr%%aﬁmwmﬁﬁmmuﬁﬁm@maﬁm%?

(A) SRE (B) wem

(©) ﬁwaqai'm (D) ¥ @ aft

Which of the following is an effective measure used in family

1

planning ?
(A)  Diaphragm (B) Condom
(C) ‘Copper T and loop (D) All of these

67. Ugifasw w1 w1 7Y ? ?
(a) waf & sl S IO w1 A
(B) wafe § S & o bt @ I
() waf & el % it 1 o, W SR A T R
(D) wa & afl

23 of 32
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What is the meaning of atavism ? -

(A)  Inheritance of parental characteristics in progeny

(B) No inheritance of parental characteristics in progeny

(€} Inheritance of ancestral characteristics in progeny, which ar.
not in parents biharboardquestionpaper.com

(D)  All of these

68. e St B et s et
@A) ey
SO Ingafisa

(B) - Sfrrerzn
(D) Tl
The genetic structure of an organism is called

(A) Phenotype X (B) Genotype

{Cl} Heredity

(D)  Diversity
09. Pl T am S P e 2
()  HecErg (B) - mrhare
©) , e fawrg

D) T

The evolution of organisms by natura] selecti

on is called
(A) Mendelism (B) Lamarckism
(C) Micru—deuelnpmcnt (D) Darwinism
70- 9% s i e v e
(A)  CFc (B) ADP
(C) ATP

Oy DpDT
[ s8/A/613 | =
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T2

73.

(112]

The chemical which shows biomagnification is

(A) CFC B
C) ATP -
() S -
(€] A (D)

Primary consumecers are called

(B)

ADP

DDT

watgrl
TR

Omnivorous

(A) Decomposer

(C) Carnivorous (D) Vegetarian

CFC &1 sq14% I94NT &ial 2

(A) FeFEid (B) - ThisRed A

© umedwwdd (D) IR

CFC is widely used igh) |

(A) Jet engines (B) Re_rrigerawrs

(C) Aif conditioners (D) All of these

wﬁmﬁmnwgwﬁmwmmﬁmﬁmé

) et o fem A (B) - e A

) - fem d (D) ¥ A @R T |
ways comes to rest in

A horizontal magn
(A)  Any direction (3)
(D)

(C) North-South direction

SS/Az61s |

et hanging freely in air al
East-West direction

(

None of thes¢
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74.

75.

l112|
af e forge AT TR % WY Hrrw @ w8, @) ag e 6o

) faafm ah (B)  uraTé aw fy&fi gnf
© fadfm = At D) ¥ A 2 7

If a compass is placed near a wire carrying electric current, ther

the compass needle

(A)  Will be deflected

(B) Th<e current carrying wire will be deflected
{C)  Will not be deflected

(D)  None of these

¥R 3 e A il G B R e 2

() Forga G0 3o - ® forga s1vwes & Fam

(C) .(ay3T (B) A (D) =} RE
Faraday made many revolutionary discoveries, including

(A)  Electromagnetic induction fRer d1¥E o sie e sifhfaas

Faye due, Afss Uue, sﬁaz-ﬁ;m
; ' UT&eIehdl, ailcd, Al ¢&c, de-31U
(B)  Law of electrolysis ‘ W@ udten vsa uz 3 & f3e...

[9] Both (A) and (B) ( BiharboardQuestionpaper.comB
‘K

(D) None of these

Page 26 of 3.
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J
76.
(A)

[112]

frea et WRafda e @

T el W frge s §

(@ el % s o

(C)

@

Tifis Sl B faga st A
forege St ! TaERE S §

An electric motor-converts

(A)
(B)
(C)

(D)

Chemical energy into electrical energy
Electrical energy into mechanical energy
Mechanical energy into electrical energ

Electrical energy into chemical energy

77. q@rﬁﬂ%mmﬁ@ﬁmﬁmﬂﬁaﬁa‘%mm%

» gEEmsRdRwmL
(B) = ® i frga 7w A R
() o faeita foga i fem
D) A B
In Fleming's left-hand rule, the index finger of the left hand
indicates
(A) Dirccﬁon of magnetic field
(B) Direction c;f' electric force applied on the conductor
(C) Direction of electric current flowing in the conductor
(D) None of these
Page 27 of 32
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78.

LYo

[ 115
]

e &7 g de & ?
A) faela weR & (B) HHM YHN F

(©) et ot s & T (D) 31 & = 7

When electric current flows through a conducting wire, what type

of magnetic field is generated above and below the wire ?

(A)  Opposite type (B)  Similar typé

{C)  Not of a.ﬁy kind (D) *None of theée
e fag@ ot fvm sy 1 ol B 2 0

& wdwoia B) sl

©)  (A) 3K (B) B D) w2 B
What type of energy source is hydroelectric energy ?l
(A)  Renewable (B) Non-renewable
(C) Both (A) and iB] o (D)  None of these

B e AT Fwm % Ry seerd 2 o

(A) =rrsim (B) wrEw :-:rsemwws
(G e (D) w3 w3 7
Which gas is responsible for global warming ?

(A)  Nitrogen (B) Carbon dioxide

(C) Oxygen (D} None of these

SS/A/613
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| (112

wug - § / SECTION - B
yifaw yeA / Physics
g I W / Short Answer Type Questions
Ty g 1/ swwmﬁvffﬁﬁ#&#4wﬁ$mﬁmm$
foro 2 s Fraffa &1 4x2=8

Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions.

Each question carries 2 marks. 4x2=8

ﬁ--wﬁaﬁﬁqﬁwﬁ > T AT B

Why do planets not twinkle ? Explain.

5 Py smadis R wEd € ?

‘What is called absolute refractive index 2.

3. q¥ ofiem & 28 ?
What is I'armghtcdncss ?
4, forega gudhn S0 8 L EN quEd @ ?

What. do you understand by electromagnetlc induction ?

5. fg e, d A u il ul o 2 2
Why is irlert gas filled in electric bulb ?
\/ﬁumat § 27q 1 A & P
What do you understand by potential difference ?
7. ot %1 390 @ fRd HEd 8 7
What is called the best source of energy ?
8w a1 &y w1 IR

What is dynamo ? What is its use ?

[Ss/a/613 ]
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' [ 115
ﬁ‘é IHOT Wy / Long Answer Type Questions |
mmgwxoﬁ#mmfrﬁﬁ#wmmme:, -
* far 6 % Fraffa &1 Iiia; 3
=€

Question Nos. 9 and 10 are Long Answer Type, Answer any one of
Each question carries 6 marks. ; élem
. X6=¢

o. FRmmmErwHFRA TR FARE L
& 2 1 P 32 e o .5
What are defects of visi

vision ? What are their )
defects resolved ? type?. ° How are th

[ ]
4 x2-= 8
estion N
Qu n J ?s. 11 to 18 gre Short Answer Type. Answ :
Each question carmnes 2 marks, €T any 4 ‘questions
TS Hrffeta B 2 et N gEaai ) o)
Wnt'__ erLE ll‘lf(}r : :
mation obtaj .
12, Oifempaass ained from chemical equation.

13.

um carbonate alkaline ?
ESLIE R =% %1 91 g
What i indi :
5 at is an Indicator 7 Write the name of an indicator.
SRR C ) O e HR R
What is the difference between an atom and an ion ?
15,

Define ores.

SS/A/613
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ﬂ | (112

s 3 AT o R ) o fern R 0

16.
| Why have detergents replaced soap ?
17, e dua w0 AR & 2
What are fossil fucls ?
18. e groft % oy @@ < 37Ed A 3 1 EEH E P

what do you understand by short and long periods of periodic

table ? |

EﬁEf IFAg W / Long Answer Type Questions
TyT Q&1 19 va ‘20 3 IRiT &1 3H & A oF @ I G| AAF T F
o 5 s FraiRa &1 I1x5=5
Question Nos. 19 and 20 are Long Answer Type. Answer any one of them.

Each question carries 5 marks. I1x5=5

1o wiffes st qETafe ol % MU 9T HTg UE W A SR W
Differentiate between metals and non-metals on the basis of
physical arnid chemical propc_rti::s.

0. Fl-dee w1 2.2.35% FUMEA S IUEI H IgE B
What is encigv crisis ? Mention the measures to resolve it.

i, s famm / Biology

¥g AT 9T / Short Answer Type Qﬁestions
YT HEar 217 28 7% 7 AT &1 g0 @ feT 4 gyl & v &) HAE 09T

F forr 2 s Fraffia &1 . 4x2=8
Question Nos. .’21: to 28 are Short Answer Type. Answer any 4 questions.
Each question carries 2 marks, biharboardquestionpaper.com 4x2=8

{

21. IR & 9n S i % 9w g
Write the names of four organelles of a cell.
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22.
_ o]
;4':’

295.

28.

mﬁqﬂm§|

['L12]
Define respiration,
Feed a1 g 4 F1 FWR P
What is the difference between xylep, and phioem o
o TR P T QI 3 Ay ey, |
\gm@ﬁqwlat . ex:u;: 7 e the names of its two main parts.
What is phototropism ? : ﬁgg %magﬁmum-ﬁ
T UTGehdl, siled, Al ¢ec, de- 3T 3iie
e ®me udtel vsa = anfe & fAw...

What is pollination ?

: ; BiharboardQuestionpaper.com p
DNA :mgaﬁm ] HATYR 31 B 5 ;—» g~

How is DNA the basis of heredity ?
SN s — “:
WETe WEA & FEHRS uwa & & o
What are the harmful

cffects of aerosol chemicals ?

& I W9 / Long Answer Type Questions

¥ WEAT 29 0@ 30 M T &1 59 @ e ; :
el il Lok ﬁwmé;mma

1x5=5

Question Nos. 29 and 30 are Long Answer Type. Answer any one of them.
Each question carries 5 marks. '

Lx 553

29.  IHMEIATY T § ? Wiy Sl &L
What is photosynthesis ? Describe it with a suitable diagram.
30.  wmiare wR1dl % asmo ) verEw R wned|
Explain recycling of waste materials with examples.
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